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INSTITUTE OF USN
TECHNOLOGY Internal Assessment Test I11 September 2023 TERY
Sub: | Mathematical Foundations for Computing, Proability and Statistics | Code: 21MATCS41
Date: | 09/09/2023 Duration: {90 mins | Max Marks: | 50 Sem: |IV | Branch: /C':A\SIED%S/AIML
Question 1 is compulsory and Answer any 6 from the remaining questions. Marks COOBERBT
1 Define tautology. Determine whether the following compound statement is a tautology or not | [8] i
{(pvg)—=>r}e{—r—->-=(pvyqgl cop |LLL3
2 |Give direct proof and proof by contradiction for the statement "If n is an odd integer | [7] T
then n+9 is an even integer CO1
3 [Prove the logical equivalence pv[p A (p v q)]= pwithout using truth table. [7]
CO1| L3
CMR USN
INSTITUTE OF
TECHNOLOGY Internal Assessment Test I11 September 2023 ~
Sub: | Mathematical Foundations for Computing, Proability and Statistics | Code: 21MATCS41
Date: | 09/09/2023 Duration: |90 mins | Max Marks: | 50 Sem: [IV | Branch: CSE/IS
Question 1 is compulsory and Answer any 6 from the remaining questions. Mgrk COOBERBT
1 |Define tautology. Determine whether the following compound statement is a tautology or not| [8] 113
{(pvg)—o>rieo{—r—->-(pvgqg)) Co1 |-+
2 |Give direct proof and proof by contradiction for the statement "If n is an odd integer | [7] L3
then n+9 is an even integer Co1
3 | Prove the logical equivalence pv[p A (p v q)]= pwithout using truth table. [7]
CO1| L3




Let A={1.2,3,4.6}and R be a relation on A defined by aRbif and only if "aisa

multiple of b”.  Write down the relation R, relation matrix M ( R)and draw its [7] coz | L3
digraph.
LetA={1,2, 3 4}yand B={1,2,3,4,5,6}
i) How many functions are there from A to B? How many of these are one-to-one? How 7]
many are onto? CO2 L3
ii) How many functions are there from B to A? How many of these are onto? How
many
are one-to-one
Define equivalence relation. R={(1,1),(2,2),(3,3),(4,4)(1,2),(2,1),(3,4),(4,3)} be
. ) . . 7 CO2 |L1,L3
a relation on A. Show that R is an equivalence relation [7]
Draw the Hasse diagram representing the positive divisors of 36. [7] L3
CO2
Define Graph isomorphism. Determine whether the following graphs are
isomorphic or not.
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